MODEL QUESTIONS – CAIIB FINANCIAL MANAGEMENT – MODULE D

SECTION- A

1. In an inflationary trend, the pricing of the bank products are

a) Decreasing trend

b) Constant

c) Increasing trend

d) No relevance

2. Credit Risk Assessment of the borrowal units is for

a) Assessing the repayment Capacity

b) To fix the pricing of the product

c) To review the units performance

d) None of the above

3. Long-term government bonds have

a) Interest rate risk

b) Default risk

c) Market risk

d) None of the above

4. If the average annual rate of return for common stocks is 13%, and treasury bills is 3.8%, what is the average market risk premium?

a) 13.%

b) 3.8%

c) 9.2%

d) None of the above

5. Stock A has an expected return of 10% per year and stock B has an expected return of 20%. If 55% of the funds are invested in stock B, what is the expected return on the portfolio of stock A and stock B?

a) 10%

b) 20%

c) 14.5%

d) None of the above

6. For a two-stock portfolio, the maximum reduction in risk occurs when the correlation coefficient between the two stocks is:

a) +1

b) 0

c) -0.5

d) -1

7. The "beta" is a measure of

a) Unique risk

b) Market risk

c) Total risk

d) None of the above

8. . Minimum Stock Levels is calculated as:

a) a Re-order Level – (Average Usage x Average Lead Time)

b) b Re-order Level + (Average Usage + Average Lead Time)

c) c Re-order Level – (Average Usage + Average Lead Time)

9. .Maximum Stock Level is calculated as:

a) a Re-order Level – (Minimum Usage x Minimum Lead Time) + Re-order Quantity.

b) b Re-order Level + (Minimum x Minimum Lead Time) – Re-order Quantity.

c) C Re-order Level – (Minimum Usage x Minimum Lead Time) – Re-order Quantity.

10. When am sells goods on credit the purchases of the goods are recorded as:

a) a Creditors

b) b Customers

c) c Supplier

d) d Debtors

11. The formulae for Present Value is:

a) 1/ (1 + r)  to the power of “n”

b) 1/ (1 – r) to the power of ‘n’

c) 1 (1 x r) to the power of ‘n’

d) 1 (1/r) to the power of ‘n’

12. The sensitivity of an investment's return to market movement is called beta.

a) True

b) False

13. If two investments offer the same expected return, most investors would prefer the one with higher variance.

a) True

b) False

14. The term cost of capital for a project depends on:

a) The use to which the capital is put, i.e. the project

b) The company's cost of capital

c) The industry cost of capital

d) All of the above

15. If a firm uses the same company cost of capital for evaluating all projects, which of the following is likely?

a) Rejecting good low risk projects

b) Accepting poor high risk projects

c) Both A and B

d) Neither A and B

16. Using the company cost of capital to evaluate a project is:

a) Always correct

b) Always incorrect

c) Correct for projects that are about as risky as the average of the firm's other assets

d) None of the above

17. Which of the following type of projects has the lowest risk?

a) Speculation ventures

b) New products

c) Expansion of existing business

d) Cost improvement

18. Profitability Index Equals to

a) PV of cash in flow / PV of Cash out flow

b) PV of Initial outlay / PV of Final out lay

c) P I / (1 – r) to the power of ‘n’

d) None of the above

19. The following is one of the method in Discounted Cash Flow Techniques:

a) Pay Back Period

b) Average Rate of Return

c) Discount to Sales Ratio

d) Net Present Value

20. A Project is more acceptable for finance if its

a) Break Even Point is high

b) IRR is higher than the cost

c) Neither (a) nor (b)

d) Both (a) and (b)

21. Cost of Project does not include

a) Cost of Public Issue

b) Raw Materials cost

c) Margin on Working Capital

d) Interest on borrowed funds before Commercial Production

22. Sources of Financing Project Cost excludes

a) Term Lending

b) Promoters’ Contribution

c) Subsidy

d) Trade Credit

23. Hurdle rate for capital budgeting decisions is:

a) The cost of capital

b) The cost of debt

c) The cost of equity

d) All of the above

24. When a firm increases debt in the capital structure:

a) Expected return onto firm's assets increases

b) Expected return on the firm's common stocks increases

c) The IRAs of the new projects increase

d) All of the above

25. In break even analysis, the break even point symbolizes:

a) No profit and no loss situation

b) No profit but loss situation

c) No loss but profit situation

d) None of the above

26. If a company changes its financial structure:

a) The required rate return on its debt will not change

b) The required rate of return on the equity will not change

c) The required rate of return on the assets will not change

d) All of the above

27. A project has an expected cash flow of 300 in year 3. The risk-free rate is 5%, the market risk premium is 8% and the project's beta is 1.25. Calculate the certainty equivalent cash flow for year 3.

a) 228.35

b) 197.25

c) 300

d) none of the above

28. Break even in Term Lending is a tool for appraisal.  The level of break even should be:

a) Higher

b) Lower

c) Any of the above

d) None of the above

29. A firm has break-even point Unit’s no. of 1000 and fixed cost of .40,000.  What is the contribution per unit ?

a) 30

b) 32

c) 36

d) 40

30. Working capital management involves all but one of the following. Identify?:

i. a)The level of cash needs to be on call at various dates.

ii. b)The  level of inventory  we need to maintain.

iii. c)The period of credit do we grant to our debtors.

iv. d)Suppliers Payments.

v. e)Proportion of  assets should be financed by long-term funds.

31. The company cost of capital is the correct discount rate for any project undertaken by the company.

a) True

b) False

32. Estimates of the company's cost of capital should be based on the beta of the firm's assets.

a) True

b) False

33. Firms with cyclical revenues tend to have lower asset betas

a) True

b) False

34. Risky projects can be evaluated by discounting the expected cash flows at a risk-adjusted discount rate.

a) True

b) False

35. In order to generate a positive NPV project, a firm must have a competitive advantage.

a) True

b) False

36. In evaluating a project, it is necessary to consider its effect upon the sales of the firm's existing products

a) True

b) False

37. The total NPV of a new plant is equal to the NPV of the new plant plus the change in the present value of the existing plant.

a) True

b) False

38. Which of the following statements regarding capital budgeting and strategic planning is true?

a) Capital budgeting and strategic planning are bottom-up processes

b) Capital budgeting and strategic planning are top down processes

c) Capital budgeting is a top-down process, while strategic planning is a bottom-up process

d) Capital budgeting is a bottom-up process, while strategic planning is a top-down process

39. Which of the following capital expenditure may not appear in capital budget?

a) Investment in a new plant

b) Investment in a new machinery

c) Investment in IT

d) All of the above are included in capital budget

40. Of the following assets, which is generally the most liquid?

a) Plant and equipment

b) Inventory

c) Goodwill

d) Accounts receivable

41. Intangible fixed assets would include

a) Building

b) Machinery

c) Trademarks

d) Equipment

42. Sales forecasts are the starting point for financial planning

a) True

b) False

43. The growth rate that a company can achieve with external funds is called the internal growth rate.

a) True

b) False

44. Which of the following is not included in current assets?

a) Accounts receivable

b) Accrued wages

c) Cash

d) Inventories

45. The main difference between short term and long term finance is:

a) The risk of long term cash flows being more important than short term risks

b) The present value of long term cash flows being greater than short term cash flows

c) The timing of short term cash flow being within a year or less

d) All of the above

46. Working Capital is not defined as

a) excess of current assets over current liabilities

b) investment of a company’s funds in assets which are expected to be realised within a relatively short period of time

c) It is an investment in an asset with a long life

d) represents funds which are continually in use and are turned over many times in a year

47.      Debtors  >Cash>  ------- >  Purchase of R.M.etc.,

48.     Working Capital = cash + debtors + stock – short-term liabilities

49.     Working capital = equity + long and medium-term debt –   -------

50. Operating cycle = Average time that raw materials remain in stock

            a)  Less: The period of credit taken from suppliers.

b) Add: The time taken for producing the goods.

                   c)-------: The time the goods remain in finished inventory.

d) Add: The time taken by customers to pay for the goods.

51. VaR means

a) Volume of business at Risk

b) Value at Risk

c) Volume on Risk

d) Value as Risk

52. The following is the price for issue of Draft

a) Draft Amount + Exchange

b) Exchange

c) Draft Amount + Interest + Exchange

d) All of the above

53. Spread is the difference between 

a) Average Cost of Deposits and Yield on Advances

b) Interest + Exchange + Commission + Discount

c) The Confessional Rate offered by the Commercial Banks to Corporates

d) All of the above 

54. The cash budget is the primary short-run financial planning tool. The key reasons a cash budget is created are:

a) To estimate your investment in assets

b) To estimate the size and timing of your new cash flows

c) To prepare for potential financing needs

d) A and B

e) B and C

55. Cash inflow in cash budgeting comes mainly from:

a) Collection on accounts receivable

b) Short-term debt

c) Issue of securities

d) None of the above

56. If the interest rate on a line of credit is 12% per year, what is the quarterly interest payment on a loan of 1 crore?

a) 1,200,000

b) 300,000

c) 400,000

d) none of the above

57. Generally, a line of credit is:

a) Less costly than stretching accounts payable

b) Provided by a bank

c) Unsecured bank borrowing

d) All  of the above

58. Most firms make a permanent investment in net working capital

a) True

b) False

59. A firm with excess cash can at best generate zero NPV by investing in marketable securities.

a) True

b) False

60. The main source of cash in a cash budget is collection on accounts receivable.

a) True

b) False

61. Depreciation is not included in sources of cash because it is an expense

a) True

b) False

62. Two common sources of short-term financing are borrowing from a bank and stretching payables.

a) True

b) False

63. Common sources of short-term financing include:

a) Stretching payables

b) Issuing bonds

c) Reducing inventory

d) All of the above

64. Factoring refers to:

a) Determining the aging schedule of the firm's accounts receivable

b) The sale of a firm's accounts receivable to another firm

c) The determination of the average collection period

d) Scoring a customer based on the 5 C's of credit

65. Credit is an effective sales tool

a) a True

b) b False

66. .Debtor levels are independent of the nature of the business of the firm.

a) A True

b) B False

67. Cash can be conserved by keeping

a) a Maximum amount of stock

b) b Best Credit terms with suppliers

c) c None of the above

68. A Project is more acceptable for finance if its -----------

a) BEP is high

b) IRR is higher than the cost of capital

c) Neither (a) nor (b)

d) Both (a) and (b)

69. IRR means

a) Internal Revaluation Reserve

b) Investment Reserve Ratio

c) Internal Rate of Return

d) None of the above

70. Pay Back Period =

a) Capital outlay of the Profit / Cash Inflow

b) Annual Income / Capital Outlay

c) Capital Outlay / Age of the Capital Asset

d) None of the above

71. Break even point in terms of Capacity utilization in case of Unit A in above question is:

a) 60%

b) 50%

c) 25%

d) 40%

e) 75%

72. Break even point in terms of Capacity utilization in case of Unit B in the above question is:

a) 60%

b) 50%

c) 40%

d) 25%

e) 75%

73. A number of steps could be taken to shorten this operating cycle. One of them is not true . Choose it

a) The amount of debtors could be cut by a quicker collection of accounts.

b) Finished goods could be turned over more rapidly.

c) The level of raw material inventory could be reduced or

d) The production period could be lengthened

74. Firms would need to hold zero cash when:

a) Transaction-related needs are greater than cash inflows

b) Transaction-related needs are less than cash inflows

c) Transaction-related needs are not perfectly synchronized with  cash inflows

d) Transaction-related needs are  perfectly synchronized with  cash inflows

75. A large firm may hold substantial cash balances because:

a) These balances are required by the bank

b) The company may have accounts in many different banks

c) The company may have a very decentralized organization

d) All of the above

76. The market for short-term investments is called

a) Capital market

b) Stock market

c) Bond market

d) Money market

77. The discount on a 91-Treasury bill is 4.2%. What is the annually compounded rate of return?

a) 4.18%

b) 5.20%

c) 5.43%

d) 4.37%

78. The bank offers you a term loan at 8% on condition that you maintain a 10% compensating balance. What is the effective rate of interest?

a) 6.4%

b) 10.0%

c) 18.0%

d) 8.8%

79. We should expect cash balances to increase when:

a) The transaction costs of buying or selling interest-bearing securities increase

b) Interest rates increase

c) Sales volume falls

d) Uncertainty about day-to-day or week-to-week cash flows decreases

80. The operating cycle is only the time‑span between production costs and cash returns

a) True

b) false

81. circulating capital means current assets of a company that are changed in the ordinary course of business from one form to another, as for example, from cash to inventories, inventories to receivables, receivable to cash”
a) true
b) false
82. A firm knows that it takes on average 15 days to turn its raw materials into finished stock and a further 40 days to receive payment from its debtors. The firm must pay its suppliers within 30 days, and so its cash conversion cycle is 55 days less 30 days = 25 days.If raw materials worth Rs  5,000 are purchased each day on 30 days credit, then the firm will have to pay for its raw materials within 30 days but still has to wait for 55 days to receive its payment.The business must be able to finance Rs 5,000 for 25 days. Therefore _________ will be needed for working capital purposes.
a) Rs 55,000

b) Rs 65,000

c) Rs 75,000

d) Rs 85,000

83. Direct Material, Director Labour, Direct Expenses is equal to ---------

a) Prime Cost

b) Overheads

c) Selling Price

d) None of the above

84. Change in cost due to change in the volume of activity is called -----

a) Fixed Cost

b) Variable Cost

c) Shutdown Cost

d) All of the above

85. Actual Sales minus Break Even Sales means

a) Profit on Sales

b) Loss on Sales

c) Margin of Safety Sales

d) None of the above

86. Capital Budgeting is also a revenue budget

a) True

b) False

87. .A manufacturing company usually has

a) a Low levels of raw materials

b) b Low levels of finished goods stock

c) c None of the above

88. The size of Cash Balance a company should maintain should depend on:

a) a Sources of funds at short notice

b) b Credit standing of the company

c) c Control of debtors and creditors

d) d All of the above

89. . EOQ is calculated as:

a) a Square of 2AC/H where A=stock usage, C=cost of ordering and H= Stock holding cost per unit of cost.

b) b Square root of 2AC/H where A = Stock usage, C= Cost of ordering and H=Stock holding cost per unit of cost.

c) c Square root of AC/2H where A=Stock usage, C=Cost of ordering and H=Stock holding cost per unit of cost.

90. Market Based Pricing based upon

a) Value to a customer of goods & services.

b) Adding  premium to the product pricing

c) (a) and (b)

d) None of the above

91. Which of the following is / are Financial Risk (s):

a) Liquidity position of the firm

b) Profitability of the firm

c) (a) & (b)

d) None of the above

92. Pricing is equals to 

a) Cost of the Product

b) Break Even Point of the firm

c) Function of Risk rating

d) All of the above

93. A retail Company normally has

a)   High levels of finished goods stock

b) High levels of debtors

c)  None of the above

94. The Tandon Working Group introduced the concept of

a)  Project Balance sheet

b) Maximum permissible Bank Finance

c)  Current Asset Management

d) dCurrent Liability Management

95. Under the MPBF system computation of MPBF for Working Capital was as per

a)  Form I

b)  Form II

c)  Form III

d) d Form IV

96. Contribution is equal to

a) Variable cost less fixed cost

b) Sales less fixed cost

c) Sales less semi variable cost

d) Sales less variable cost

97. Break even point can be calculated as:

a) Total Variable Cost / Contribution per Unit

b) Total Fixed Cost / Variable Cost per Unit

c) Total Fixed Cost / Contribution per unit

d) Contribution per unit / total fixed cost

98. The income break even analysis is good tool to the banker in appraising:

a) Working Capital proposals

b) Term Loan proposals

c) Underwriting proposal

d) Letter of credit proposal

99. Problem: Which of the following is more bankable proposition, other things remaining equal ?

1. Unit A 



Unit B

   Fixed Cost



1,50,000


2,00,000

   Variable Cost (per Unit)

                    80


          60

    Sale Price (per Unit)


       100


        100

          Utilised Capacity


  12,500


   10,000

          (in Units per month)

a) Unit B as it has lower Break even point.

b) Unit A as it has lower break even point

c) Both Units are equally bankable

d) Unit A as the fixed cost is less than that of Unit B

100. IRR is calculated for the following:

a) Working Capital Finance

b) Project Finance

c) Pre-shipment Finance

d) Post-shipment Finance

101. Pay Back Period method takes care of all future cash inflow of the project

a) Yes

b) No

102. Purchases and creditors are made up of :

a) a  Energy

b) Rent

c) Energy and Rent

d) None of the above

103. Fixed Budgets are suitable

a) Static Condition

b) Dynamic Condition

c) (a) and (b)

d) None of the above

104. All functional budgets are covered under:

a) Master Budget

b) Sales Budget

c) Cash Budget

d) Variable Budget

105. Master Budget Covers various

a) Products Budget

b) Functional Budget

c) Customer Budget

d) All of the above

106. A company manufacturing washing machines has annual capacity for producing 5000 units.  The variable cost per unit comes to Rs.1,600/- and each machine is sold for Rs.2,000/-. Fixed cost amount Rs.5,00,000/-.  Break even point in terms of UNITS would be

a) 1,000 units

b) 1,250 units

c) 1,200 units

107. Conversion Cost = Director Labour + -----------------

a) Direct Material

b) Administrative Cost

c) Selling Cost

d) Total overheads

108. Marginal Costing is applied on long term decisions.

a) True

b) False

109. A discount is offered by suppliers at 2% if payment is made within 10 days as against usual period of payment of 45 days. What is the effective rate of interest

a) 15%

b) 20%

c) 21%

d) 18%

110. VARIABLE COST
=
DIRECT LABOUR

a. +

2. DIRECT MATERIAL

a. +

3. DIRECT EXPENSE

a. +

4. VARIABLE OVERHEADS

111. Under PBS method bank borrowing in form of LC bills purchase limits are to be under the current liabilities

a)  True

b) False

112. ROI – Return on investment is equal to ----------

a) Net Profit after Tax / Tangible Net worth

b) Net Profit after Tax / Net Tangible Assets

c) Net Profit after Tax / Paid up Capital

d) Gross Profit / Gross Assets

113. Under Cash Budget System method of Working Capital is determined by:

a) Ascertaining level of Current Assets

b) Ascertaining level of Current Liabilities

c) Finding Cash Gap after taking in account projected Cash inflows and outflows

d) All of above

114. Mrs. Smita has 100 today and the market interest rate is 10% per year. Mr. Desai also has an investment opportunity in which he can invest 50 today and receive 60 next year. Suppose Mrs. Smita consumes 50 this year and invests in the project. What is the maximum he amount he can consume next year?

a) 55

b) 60

c) 50

d) none  of above

115. Which of the following promotes the development of purely competitive financial markets?

a) High transaction costs

b) Taxes

c) A large number of traders

d) High cost of information

116. The discount rate, hurdle rate or opportunity cost of capital all mean the same.

a) True

b) False

117. What is the net present value of the following cash flow at a discount rate    of 15%? 


a) 19,887

b) 80,000

c) 26,300

d) None of the above

118. Present values are value additive

a) TRUE

b) FALSE

119. The discounted payback rule calculates the payback period and then discounts it at the opportunity cost of capital.

a) TRUE

b) FALSE

120. The IRR rule states that firms should accept any project offering an internal rate of return in excess of the cost of capital

a) TRUE

b) FALSE

121. Preferably, cash flows for a project are estimated as:

a) Cash flows before taxes

b) Cash flows after taxes

c) Earnings before taxes

d) Earnings after taxes

122. Money that a firm has already spent or committed to spend regardless of whether a project is taken is called:

a) Sunk costs

b) Fixed costs

c) Opportunity costs

d) None of the above

123. A firm owns a building with a book value of 100,000 and a market value of 250,000. If the building is utilized for a project, then the opportunity cost ignoring taxes is:

a) 100,000

b) 150,000

c) 250,000

d) none of the above

124. If the depreciation amount is 100,000 and the marginal tax rate is 30%, then the tax shield due to depreciation is:

a) 333,333

b) 100,000

c) 30,000

d) none of the above

125. The objective of Budgetary Control System is to Control:

a) Costs

b) Sales

c) Activities

d) None of the above

126. Fixed costs      =

                                                          Contribution/Unit           

a) Break – even Point (in units)  

b) Break – even point ( in sales) 

c) C / S ratio

d) Level of Sales to result in target profit    

127. Fixed Costs

                                                                 ---------------------   x Sales Price   =

                                                          Contribution / unit 

a) Break – even Point (in units)  

b) Break – even point ( in sales) 

c) C / S ratio

d) Level of Sales to result in target profit   

128.  Contribution/Unit x 10   =

                               Sales Price per unit

      a) Break – even Point (in units)  

b) Break – even point ( in sales) 

c) C / S ratio

d) Level of Sales to result in target profit   

129. Purchases and creditors are made up of :

a) a  Energy

b) Rent

c) Energy and Rent

d) None of the above

130. Contribution =

a) Sales – Variable Cost

b) Fixed Cost + Profit

c) (A) or (B)

d) None of the above

131. Which of the following investment rules does not use the time value of the money concept?

a) The payback period

b) IRR

c) NPV

d) All above

132. A capital equipment costing 200,000 today has 50,000 slavage value at the end of 5 years. If the straight line depreciation method is used, what is the book value of the equipment at the end of 2 years?

a) 200,000

b) 170,000

c) 140,000

d) 50,000

133. Term Loans are always secured by -----------

a) Primary Security

b) Collateral Security

c) Personal Guarantee

d) All of the above

134. ARR means

a) Average Return Ratio

b) Average Required Return

c) Average Rate of Return

135. Budgets once prepared, it can be

a) Frequently changed due to change in Management

b) Not changed – Once prepared

c) Based on the feed back / circumstances it can be changed

d) None of the above

136. The following is the one of the Time Adjusted Method in Capital Budgeting Techniques:

a) ARR

b) IRR

c) Pay Back Period 

d) All of the above

137. The following statements regarding the NPV rule and the rate of return rule are true except:

a) Accept a project if its NPV > 0

b) Reject a project if its NPV < 0

c) Accept a project if its rate of return > 0

d) Accept a project if its rate of return > opportunity cost of capital

138. Current price of Company X's stock is 100. The table below gives the data on end of the year prices and probabilities dependent on the state of the economy. Calculate the expected return for the stock. 

a) [image: image1.jpg]Lconomy  Erobabilit: Lnd of the year price
Growth 5 $130
Recession 5 90





b) 10%

c) 15%

d) 20%

e) none of the above

139. The opportunity cost of capital for a risky project is

a) The expected rate of return on a government security having the same maturity as the project

b) The expected rate of return on a well diversified portfolio of common stocks

c) The expected rate of return on a portfolio of securities of similar risks as the project

d) None of the above

140. You are given a job to make a decision on project X, which is composed of three projects A, B, and C which have NPVs of +50, -20 and +100, respectively. How would you go about making the decision about whether to accept or reject the project?

a) Accept the firm's joint project as it has a positive NPV

b) Reject the joint project

c) Break up the project into its components: accept A and C and reject B

d) None of the above

141. The payback period rule accepts all projects for which the payback period is

a) Greater than the cut-off value

b) Less than the cut-off value

c) Is positive

d) An integer

142. Which of the following capital budgeting methods has the value additive property

a) NPV

b) IRR

c) PAYBACK PERIOD

d) DISCOUNTED PAYBACK PERIOD

143. The disadvantages of the book rate of return method is/are:

a) It uses net income instead of cash flows

b) The pattern of income has no impact on the book rate of return

c) There is no clear cut decision rule

d) All of the above

144. The IRR is defined as:

a) The discount rate that makes the NPV equal to zero

b) The difference between the cost of capital and the present value of the cash flows

c) The discount rate used in the NPV method

d) The discount rate used in the discounted payback period method

145. Profitability index is the ratio of:

a) Present value of cash flow to initial investment

b) Net present value cash flow to initial investment

c) Net present value of cash flow to IRR

d) Present value of cash flow to IRR

146. For project A in year 2, inventories increase by 10,000 and accounts payable by 4,000. Calculate the increase or decrease in net working capital for year 2.

a) Increases by 12,000

b) Decreases by 12,000

c) Increases by 6,000

d) Decreases by 6,000

147. Opportunity costs should not be included as they are missed opportunity

a) True

b) False

148. Do not forget to include interest and dividend payments when calculating the project's cash flow.

a) True

b) False

149. An investment should be postponed as long as the opportunity cost of capital is less than the growth rate of the value of the project.

a) True

b) False

